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  GRID IT!


If you can, watch these video clips which explain how to use the grid method to multiply larger numbers:


� HYPERLINK "https://www.youtube.com/watch?v=LTxql8_dXec" �https://www.youtube.com/watch?v=LTxql8_dXec� (2 digits x 1 digit)


� HYPERLINK "https://www.youtube.com/watch?v=6XdZ4aOn8ok" �https://www.youtube.com/watch?v=6XdZ4aOn8ok�(2 digits x 2 digits)





Here’s a worked example for 26 x 5:


�


5 x 20 = 100


5 x 6 = 30


so 100 + 30 = 130





Here’s a worked example for 613 x 5:


�


5 x 600 = 3000


5 x 10 = 50


5 x 3 = 15


so 3000 + 50 + 15 = 3065








Can you use this method to answer these questions:


46 x 3


62 x 4


84 x 5


35 x 6


78 x 7


51 x 8


29 x 9�
126 x 3


421 x 4


591 x 5


833 x 6


914 x 7


382 x 8


296 x 9�
�






                    








                   























PLAY IT!


Players take turns to colour numbers to make a multiplication calculation to fit the pattern at the top of the board e.g. on a turn one player could colour 6, 4 and 24 because 6 x 4 = 24.





Once a number is coloured it can’t be used again.





The winner is the last player who can colour 3 numbers to make a multiplication calculation.
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  CHALLENGE IT!


You can use the grid method to multiply 2 digit numbers by 2 digits as well  (and even 3 digits by 2 digits, 3 digits by 3 digits, etc.)








Here’s a worked example for 35 x 26:


��
20 x 30 = 600


20 x 5 = 100


6 x 30 = 180


6 x 5 = 30


so 600 + 100 + 180 + 30 = 910�
�












Here’s a worked example for 815 x 34:














��
30 x 800 = 24,000


30 x 10 = 300


30 x 5 = 150


(24,000 + 300 + 150 = 24,450)


4 x 800 = 3,200


4 x 10 = 40


4 x 5 = 20


(3,200 + 40 + 20 = 3,260)


so 24,450 + 3,260 = 27,710�
�









Can you create some of your own questions and use the grid method to answer them?
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